DIVISIONS - Entraînement
Complète en observant les exemples :
35 = (7 x 5) + 0 	→ 35 : 7 = 5 reste 0      	30 = (9 x 3) + 3   	→ 30 : 9 = 3 reste 3 
→ 35 : 5 = 7 reste 0 			      	→ 30 : 3 = 10 reste 0

75 = (9 x 8) + 3 	→ 75 : … = … reste … 	48 = (7 x …) + 6 	→ 48 : … = …  reste …
			→ 75 : … = … reste …				→ 48 : … = … reste …

43 = (8 x …) + …	→ 43 : … = … reste … 	40 = (9 x …) + …	→ 40 : … = … reste …
   			→ 43 : … = … reste …				→ 40 : … = … reste …

68 = (7 x …) + … 	→ …… : … = … reste … 	55 = (8 x …) + …  	→ …… : … = … reste …
→ …… : … = … reste …				→ …… : … = … reste …

57 = (8 x …) + … 	→ …… : … = … reste …	34 = (4 x …) + … 	→ …… : … = … reste …
[bookmark: _GoBack]→ …… : … = … reste … 			     	→ …… : … = … reste …

